Vocas Systems b.v. info@vocas.com www.vocas.com
viewfinderbracket with rosette (zonder nato)

0700-0031
Version Date: 27/10/2020 09:06

Iltem No. Part Number Qt Description

1 12.005.02 1 nato rail clamp with friction

2 09.026.01 2 | Spring 6,5x5,5xL10

3 09.016.03 2 | Nut M4 for winged nut hexagonal
4 11.007.01 2 Ring 4,3x8x0,5 Din 433 St-Zn

5 11.008.04 2 | Winged nut hexagonal small

6 09.033.01 1 Spring C145 5.63x0,63x8,5L

7 04.037.01 2 | Screw M4x25 din 965 A2

8 01.046.01 2 | Pin 3h6X10 1SO8734 st

9 12.017.01 1  Friction holder

10 12.015.02 1 VF rosette holder

11 09.084.01 1 Winged nut 1/4"

12 09.083.02 1 Screw SP - 1/4"UNC x 1 A2

13 09.036.02 1 Ring DIN 125B 6,4 X 12 Mess Ni
14 12.008.01 1  Friction ring

15 12.009.01 1  Cup spring DIN2093 12x5,2 X0,6 RVS 1.4310
16 11.227.01 2 | Pin3h6 X 16 DIN7 — Al

17 12.010.01 1 Screw M5x8 DIN 912 A2 70

18 12.003.04 1 Nato rail clamper

19 09.075.01 1 Winged nut M6 II

20 09.039.01 1  Screw DIN 913-M6X25-45H A2A
21 04.106.01 1 Retaining ring M6

22 09.085.01 1 Retaining ring 1/4"




